

$$(3 \cdot x + \bigcirc)^2 = \bigcirc + \bigcirc + 49$$

$$(\bigcirc - 4)^2 = \bigcirc - 48 \cdot y + \bigcirc$$

$$(\bigcirc + \bigcirc)^2 = 4 \cdot x^2 + 32 \cdot x + \bigcirc$$

$$(\bigcirc + \bigcirc)^2 = \bigcirc + 180 \cdot x + 100$$

$$(\bigcirc - \bigcirc)^2 = 36 \cdot x^4 - 24 \cdot x^2 + \bigcirc$$

$$(\bigcirc - \bigcirc)^2 = \bigcirc - 130 \cdot a + 169$$

$$(3 \cdot a + \bigcirc) \cdot (\bigcirc - 5) = \bigcirc - \bigcirc$$

$$(\bigcirc - \bigcirc) \cdot (\bigcirc + \bigcirc) = 49 \cdot a^4 - 9 \cdot b^2$$

$$(\bigcirc + \bigcirc) \cdot (\bigcirc - 3 \cdot c) = -\bigcirc + 4 \cdot d^2$$

$$(\bigcirc + 6) \cdot (\bigcirc - \bigcirc) = \bigcirc - 100 \cdot p^6$$

$$(\bigcirc - \bigcirc)^2 = 16 \cdot a^2 \cdot b^8 - 40 \cdot a^3 \cdot b^4 \cdot c + \bigcirc$$

$$(\bigcirc + \bigcirc)^2 = \frac{1}{4} \cdot x^4 + \frac{1}{5} \cdot x^2 \cdot y^2 + \bigcirc$$

$$(x - 5)^2 + (x + 3)^2 = (x + 1)^2 + (x - 1)^2 + 8$$

$$(x + 6)^2 - (x - 3) \cdot (x + 3) = 3 \cdot x$$

$$(2 \cdot x - 3)^2 + 8 \cdot x = (-7 + 4 \cdot x) \cdot (x + 2)$$

$$(x + 3)^2 - (x + 5)^2 = (x - 7)^2 - (x - 8)^2 - 5 \cdot x$$

$$(x + 5)^2 + (x - 3)^2 - (x - 2)^2 = x \cdot (x + 33)$$

$$(3 \cdot x - 6) \cdot (3 \cdot x + 6) - (2 \cdot x - 4)^2 = (10 \cdot x + 8) \cdot \left(\frac{1}{2} \cdot x - 1 \right)$$